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Bz ENSEHA %K 2899 b

(% L EBEREET)
ey _ HFE R ke) 1% #YFE taxtER|
a—Fk A R A8 #YFE | HExtEE | Efike) R E(F) BiEm) | sEm) | wEe)
130100(/=W 2 A biToesY 20,690
130100(7ZWZ A 1= 1,550 0 1,550 10 756 216
130100(/=W 2 A ey = 5,600 0 5,600 10 1,080 324
130100(7ZWZ A RI%G 13,480 0 11,620 12 1,080 324
13034003 ICA LA biToesY 24,170
130340[;¥ICA LA FiE 2,490 0 2,490 10 864 540
13034003 ICA LA HE 280 0 280 10 1,782
130340[;¥ICA LA RI%G 17,490 0 16,940 10 1,612 518
13034003 ICA LA e 3,810 0 3,810 10 1,274 1,210
130400| 1% S be 2,050
130400| 1% 5 JbiEE 100 0 100 10 2,484
130400| 1% 5 55 1,822 0 1,802 10 3,240 1,566
130400| 1% 5 FE 100 100 10 1,296
130600(1 A Z A bne 3,877
130600({1 A Z A il 1l 145 145 5 1,944 972
130600(1A Z A 1 2,140 2,080 5 3,456 864
13110018 3% biToesY 35,013
13110018 3% I 4,860 300 4,560 15 378 1,296 324
13110018 3% HE 19,503 105 19,138 15 324 864 540
131100|B % FMFRWL 8,850 0 8,850 12 648 324
131100|83% il 1l 1,050 0 1,050 15 864 648
131700(F v XY be 33,276
131700(F v XV R 17,380 14,930 10 972 464
131700(F v XY k& 15,296 14,368 15 1,048 1,021




131700(F v~y FNERL 600 0 600 10 810
131800(Ix > NMAE ToE 3,379

131800]IF > A E B 100 0 100 0.2 130 119
131800(Ix > NAE 5B 438 308 130 0.2 130 65 81 76
131800]IF > A E wE 1,600 0 1,560 4 3,240 1,080
131800(Ix > NMAE =1 1,080 0 1,080 0.18 86 76
131910(Fh & ¥ 2,303

131910|F R & KER 38 38 0.5 702 302
131910(Fh & BE 74 71 0.5 292 265
131910|F R & i 1L 400 60 290 1 324 756 324
131910(Fh & &I 1,453 1,453 10 3,132 1,404
131910|F R & i 330 320 10 2,592

131950(BA & ¥ 7,028

131950|H A& & 748 0 637 3 1,836 648
131950(BA & BER 2,250 0 1,905 3 1,404 540
133400 L % X ¥ 17,255

133400|L % & I 1,205 0 1,205 10 2,160 756
133400 L % X 5B 9,670 0 6,620 10 2,160 1,620
133400|L % & wE 3,180 0 1,400 10 2,376 972
133400 L % X RlE 3,200 0 900 10 1,458 1,404
134100|8A/X ¥ 17,778

134100 (#&A K 5B 8 0 8 8 3,456
134100|8A/X wE 3,700 0 2,415 5 2,495 1,620
134100 (#&A K FN 115 0 115 5 2,268 1,080
134100|8A/X EIE 930 0 740 5 2,592 1,620
134100|8AM = A 1,950 0 655 5 2,430 1,944
134100|8A/X = 10,260 0 6,540 5 2,646 1,620
134200|m /X ToE 10,280

134200|F /M XF 3 2,500 0 1,850 10 2,700 2,592
134300(71F ToE 5,035




134300|50F = 75 0 75 5 1,512
134300(71F BE 562 0 492 2 1,242 648
134300|50F =N 4,165 0 3,705 0.27 130 113
134300(71F &[] 233 0 202 4 1,728 1,296
134400 b~ b ok 15,213

134400| k< b 5B 3,334 0 3,214 1,296 432
134400 b~ b REA 11,784 0] 11,595 1,944 1,080
134500 &' —~ > ¥ 3,570

134500 "=~ ~ = Al 1,415 1,017 0.15 81 54
134500 &' —~ > =y 1,793 1,635 0.13 78 54
135100 WA F A ¥ 180

135100| W A LT A ANER L 20 20 2 3,024 1,404
135100 WA F A =N 30 30 2 2,916 2,484
135100| W A LT A B IR 90 90 2 2,052 1,836
1352003 = ¥ 100

135200|%= EA 22 0 20 2 4,320 4,212
1352003 = FNEL 62 0 62 2 3,564 1,296
135200|%= N 16 0 10 1 1,350
136100|HA L & ¥ 32,875

136100(AA L & h¥= 10,930 0] 10,355 5 2,376 432
136100|HA L & REA 5 0 5 5 1,296
136100(AA L & PN 6,200 0 6,200 5 2,160 1,188
136100|HA L & = I 1,555 0 1,245 5 1,458 432
136200|E 5% TeE 550

136200| %5 timE 550 0 550 10 1,058

136210( X —7 1 > ¥ 13,660

136210( X =7 1 ~ Jtime 13,660 400| 13,260 10 1,944 810 2,030 540
136300|2F ok 4,940

136300|8F EiE 4,940 0 4,640 10 6,264 1,080
136600|7z & ¥ 30,810




136600|7-xa & Jtime 18,390 0] 18,390 20 2,290 1,944
136600|7z & &R 12,320 780 9,040 10 2,700 1,944 2,754 1,350
138100|& L Wizl ¥ 3,706

138100(& L W /o lF KB 114 0 114 0.1 151 76
138100|& L Wizl wE 2,885 0 2,765 0.2 259 86
138500| L& LE ¥ 2,148

138500| L& LE K% 2,041 0 1,626 0.2 79 65
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LSS ST E 905 bhv

(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240400|BAEBINAN A |HEK 1,605
240400| R4 EINAN A | FFRWL 1,275 0 1,250 5 2,700 2,160
240700 @EINAN A |HEL 49,445
240700|Z@EIMNA N A | FFRWL 20,825 0 8,735/ 10 3,888 1,296
240700 @EM AN A | &I 10,277 0 8,200f 10 3,024 2,160
240700 @EINANA | BB 18,343 0| 12,083 10 3,780 972
241470| & A D A iy 843
241470 = A DA = 843 0 75 4
242320|¥ 33— L F | 5,470
242320|Y 3+ 3— K | BH 5,470 0 100 20
242830|3 LW AT e 8,641
242830|5 LW AT & 2,330 0 2,030 10 4,860 2,700
242830|3 LW AT R 6,311 0 2,110 10 5,400 1,944
242850| EM Y A Z 1 150
242850| E#k Y A Z EE 150 0 150| 10 4,320 3,780
243610|EB N & HE 9,280
243610|2B N & = 9,280 9,280 ol 10 1,512 108
243700( L 33 HE 30
243700 L 33 =R 30 30 ol 10 864
243740\ BB & HE 105
243740| BB & h3= 105 70 35 5 1,620 1,836
24600016 & HE 12,556
246000|L\B & & 12 0 12| 0.25 518 432
246000 LB & &I 531 0 395 0.3 1,026 756




246000|L B 2 & 2,110 0 1,044 0.25 788 486
246000|L B & i 2,208 0 1221 0.24 648 501
246000|L B 2 Rg 3,238 0 1,900 0.25 810 324
246000|L B & REA 3,809 0 2,167 0.25 648 302
246000|W1 B & =y 600 0 871 0.25 702 486
247100| 7 —ILZ X Ay [## 1,316

247100| 77—/ R A A v 5] 400 17 289 8.5 14,580 8,424 20,520 10,800
247100| 7 — LR A AV E4 40 0 40 8 3,564

247100| 77—/ R A A v Syl 196 111 85 8.5 4,104 2,268 10,800 10,260
247100| 7 —LZx A B Y | BEX 680 0 of 85

257100((x L #h T 1,069

257100((F Lfh BE 80 80 0.2 378 324
257100((x L #h = 100 44 0.7 1,944 1,404
257100((F Lfh =¥ 889 1021 0.17 486




